MATHS COMMUNITY

Algebra
Level 1
1. 3zx=12
2. bxr=30
3. 10z =70
4. 2x =16
5. 6x =18
6. 9x =72
7. 1bx =75
8.  2lx =063
9. 13z =104
10.  17x =51
11. 2z = -8
12.  6x=—12
13. 5z =—45

14, 122 = -72

15. 15z = —30

16. 8z = —-32
17, =3z =12
18, =5z =125
19. —Tr=84

20.  —18z =162
2. —Hdx =44
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Linear Equations

LEAMY).

22.
23.
24.
25.
26.
27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.
40.
41.
42.

—2r = —8
—3r = —15
—4r = —24
—8xr = —56
—10z = —90
—15z = —150
—12x = —132
3r = =27

or = 105
—6z = 36
—10x = —250
—4x =72
192 =57

10 = 5z

18 =6z

—25 =5z
—45 = —15x
6z =0

78 = —2x
0=—-Tx

10z =5



b
Algebra Linear Equations /

Level 2 25. 3z — 25 = —19
1. 2z +5=17 2. Tr+12=5
2. 3z +8=29 27. 8z +17 =1
3. 5z +8=53 28. 5+ 32 =12
4. 4z +3 =55 29. 20+ 7= —5
5. 10+ 7 =97 30. 10z + 19 = —41
6. 6z —2 =10 31. 92425 = —20
7. Tx —5 =37 32. 62+ 18 = —18
8. 8z — 14 = 50 33. 5— 20 =27
9. 20 — 17 =93 34. 7— 3z =28
10. 4z — 12 =96 35. 9 — bz =74
11. 62 — 20 = 10 36. 7— 8z = 63
12. 32— 17 = 22 37. 3 —dx = —21
13. 22+ 11 =5 38. 7 — 10z = —43
14. 3z +12=3 39. 12— Tz = —72
15. 624+ 17=5 40. —5x — 18 = 22
16. 9z + 11 = —16 41. 10 = 2z — 18
17. o +7=—5 42.19=5— Tz
18. 22 — 5= —19 43. 22 =31 — 2
19. 7o —3=—-24 44. 95 =15 — 10z
20. 3z — 11 = —44 45. —15 = 2z + 17
21. 12z + 12 = —108 46. 20 = 5z + 20
22. 8z — 11 = —3 47. 8z — 13 =11
23. 20 —7=—5 48. 10z —10=5
24. 11z — 23 =21
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Algebra Linear Equations /

Level 3 25. 62 +19 = 11z + 4

1. bx+3=3x+7 26. 3v4+6=9x —24

2. 9v+4 =>5x+16 27. x +5=3x+1

3. 6+ 17 =3z + 29 28. 4o +31 =9z +1

4. 8r 4+ 11 =T7x + 16 29. bx — 18 =11z

5. dx —T7T=2x—1 30. Tx — 37 =4x — 67

6. 6 —8 =x + 27 31. bx +11 =3z + 11

7. 13x—17T=8x -7 32. 4xr — 28 = 10x — 28

8. 23x — 11 =192 + 13 33. 16 —9x =4 —5x

9. bz +8=3x+14 34. 27T —6x = —x —8

10. 11z +19 =62+ 4 35. 17— 6x =29 — 3z

11. 122+ 23 =3z — 13 36. 28 —4xr =18 — 2z

12. 9246 =32 — 24 37. 3x+2x —7=3x+5—2

13. 14z — 3 = 10x — 27 38. llx —3x+11=72+21-5
14. 13z —9 =8z — 44 39. 6x —13+5="Tx + 27— 62

15. 11z —7=9x — 23 40. 6z — 9+ T7r =4+ 8z — 48

16. 162 — 5 = 62 — 95 41. 10z — 17 — 22 = 13z + 13 — 20
17. 3x+3 =52+ 7 42. 9x —3xr—3+22=8xr+3xr+13-9
18. 3z + 17 = 62 + 29 43. 24+ 92r+40—-9—62 = 102+10—2—9
19. bx +4 =92 + 16 44, 304+8xr —2— 120 =20 —2 — 2x
20. Tx +11 =8z + 16

21. 20 —7T=4x -1

22. 8x —17=132z -7

23. Tx — 19 =10x — 13

24. 192 — 19 =142 +6
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Algebra
Level 4 22. —2(3x 4 5) = 4(x — 5)
1. 2(x +5)=16 23. =3(2x — 1) = —5(x + 4)
2. 3(z+4) =30 24. —2(4x — 8) = —4(3x + 5)
3. 5(x —7) =55 25. T(x +3) = —3(22 + 6)
4. 4(x —2) =38 26. 2(3z+1) +5=3(2x — 1)+ 10
5. —3(z+4) = 27. 5(4a —3) — 4 = 3(52 +2) — 20
6. —6(z +5) =18 28. 3(5br —4)+6=4(3z+1) -1
7. -2z —5)=24 29. 2(2r +3) — 11 =T7(z —4) +8
8. —T(x—4)=7 30. 10(2z +8) = 5(4 — 3z) + 5(3z + 8)
9. 3(x+2)=2(x+1) 31. 3(4x—T7)—2(3—2x) = 5(62 —9) —2(4x + 3)
10. 5(z +3)=3(z+7) 32. 2(5—2x)—3(4x+5) = 6(7T—z) —4(x+8)+3
11. 8(z +2) = 5(z +5) 33. 5+ 32z +1) =4+ 4(3x — 2)
12. 7(z —4) =2(z +1) 34. 3—7(5r —2) = 14 — 4(3x + 5)
13. 6(z —5) =2(z + 3) 35. 15+2(5 —3r) =5—5(3 —x) — 20
14. 9(z — 3) = 4(z — 3) 36. 3—2(7—2x) =9 +6(8z +4)
15. 2(z +5) = 5(x + 5)
16. 3(2x — 1) = 5(3x + 3)
17. 7(3z — 5) = 2(5x + 10)
18. 2(7Tx +4) = 4(2x — 4)
19. 3(5z2 — 8) = 7(2x — 1)
20. 6(3x —5) = 2(5x — 3)
( )

21. 8(2¢ -1
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